e

Vowels: (mod 5) Vowel(and y)s: (mod 6)
Consonants: (mod 21) Consonant(not y)s: (mod 20)

1. For each number, list 4 equivalent numbers of the same type

1 (mod 5): I}é’;l‘ “9,:2\)16)”5, ”"Li)"q)--("-fjl-/((,a

1(m0d6 \ ?— IZ,. C\)’J_I}3l)¢c./-—5‘}*fl, "'/7/"‘13}

"o d - = -6 "‘.-; o€ ¥
1 (mod 21): [)a;quglgq)ds/ 106, R0,~41,-62,782,

L (mod 20): |, 1, 41, 60,81, 1080 ™ 19, =39,-51,~ 79,
35,30,25,10,1$, /0,5, cor

, 34, a@,aa]:buo,*,

40 (mod 5): {0, H$,50 , $5, 60,0,
40 (mod 6): o, Y6, £, 5%, 64,00
40 (mod 21): 40, 61,82, 103, m,m«, 14, -3,

-Z(J‘, .o w0
4o, 6,-0,70; (00,129, ¢ 10’

40 (mod 20):
2. For any particular number z (mod n), there is a unique number y between 1 and n with

£ =y (mod n). This basically means “find the letter,” except we stick with numbers. Find
this number y for each z:

0 (mod 5): 5 0 (mod 6): 6
0 (mod 21): Cl\ 0 (mod 20): /;1 U
—1 (mod 5): H —1 (mod 6): 5

~1 (mod 21): ) () ~1 (mod 20): l"(
(mod 5): S 40 (mod 6): L{-

(mod 21): |4 40 (mod 20): QO

This number is called the standard representative of the number.

3. For each arithmetic pxoblem write down the standard representative of the answer.

20 + 30 (mod 5) = 20 + 30 (mod 6) |
B ‘1’5 -0 O K 5 .\,3 = L Q
20><3O (mod 5) C:)—' 20 x 30 (mod 6) c
O.x D = o T - T o =

W W

b5 =0 +L-p T T

20 — 30 (mod 5) .y 20 — 30 (mod 6)



4. For each number, list ALL standard representatives of numbers that work:

a3+ S
Doubleto 2 (mod 5): .3y | 3 5 4_
Double to 2 (mod 6): (a2 3q 5¢ ‘ 1_f .,
124 6L a6 k “F P/

Double to 1 (mod 5):

Double to 1 (mod 6): f /UJWE’, ,

How many answers can there be? O ’ Q/
> , O v

How do you tell how many answers there are?
vasd B always 4 med b A (o even, O Gor 0dd
How do consonants (mod 21) and consonant(y)s (mod 20) work?

)9 e (- = _ ,
vt B 2 Sewle as oD moed 207 Sawme as MJ &

4. For each number, list ALL standc?rd representatwes of numbers that work:
& 3 4
Triple to 3 (mod 5): XJI \ ‘ 1

Triple to 3 (mod 6):

b

\n)

UF'-'

(L

FP =

oL R
WYY Oy

'k

| H C

W
&

Triple to 2 (mod 5):

Triple to 2 (mod 6):

&

How many answers can there be? 6
? I. ) ef
How do you tell how many answers there are?

mod § ¢ (xlw&ys \ / mod 6
How do consonants (mod 21) and consonant(y)s (mod 20) work?

w00 L% Sawme ag mod (3_ Mo) d0 ¢ Same & med
5. Instead of triple, maybe it is quadruple, (iﬁ/’intuple, or even multiply by 23.

&\-‘vi” "’7’ 3 has %/ one(wfse (8]

\\\‘V\‘

How many answers can there b
Orla“‘l'f 0)|or5h O"ofag

How do you tell how many answers there are?

T‘V\w\-k Ci\’,’!ad+. A {b\ﬂ P dblCMp



